water technology

f

U

Control &1 EA

1) When the light is connected to the transformer directly, the on/off
switch confrols the colour changes (Associating a light with a I
transformer and an on/off switch is recommended: If you want all ON/OFF Swifch |0N/0FF St | |0N/0FF Siteh |
the lights to change colour at the same time, install a master switch,
Figure 9).(KATEIRETERR, RIBFXRIMUALEET L. (FENEW
— KB —AEERE, F—NFX; WRERBNAIEREREG®, FME
FREFXANRETEE—MREREFX. (EY)

2) If applicable, when the light is connected fo the transformer and the
fransformer to the optional control box, the control panel on the

confrol box and its remote control controls the colour changes (See
the Control Box Manual for details). (3 g 115158, KATBETER,
ARSI BB RRIIM ERETh. GHEEREHBERES)

Maintenance of the Lights 7k TITHIFESF 54 Figure 9 ([¥9)

lawlojsuel|
lawlojsuel|
Jawiojsuel|

« Do not leave the lights “on” above water for longer than 1 minute. (K R AT ATEZRBKIER T S=H8E 194

« Do not leave the lights directly under sunlight. Fill the pool with fresh water as soon as possible after the lights are installed. (7k kT %
TFEIGKBA, NRPIFHGPERBK, 7K TETA A LUKETE] 72K PR T~ BRAf)

« Before switching on the lights, check whether the lights are fully submerged underwater and the circuit boxes are running

properly. (RFK T m=q, ERTKIIEETEREKT, BEMHEEEETES)

This unit does not need any kind of maintenance. If it is not working properly, please contact EMAUX authorized dealer where

you purchase the unit from. (b= @A HFEEMHEE, MRFAEETIE, BEHFARMWELZREMauxiZHE THE)

« Warranty will be voided if the Emaux Underwater Light was dismantled by unauthorized personnel.(#81REmaux/k TAT# R ZE IR A
FENMMRAE A TR0

REPLACEMENT PARTS Z&p{4iF

mA RS o3 R TR g
ltem No.| PartNo. Description Chinese Description English Qty
1 03011326 | FkH 2z (M6*80) Mé6*80 Screws 2
5 03017075 | A& MmE 3 (EMAUX) Stainless Steel Lid (EMAUX) 1
01050008 | T 2% (EMAUX) Plastic Lid (EMAUX) 1
3 03011327 | sh7xFaig 22 (M6*55) Mé*55 Hexagon Head Screws 6
4 01100011 | £ &K Face Ring 1
04011153 | BRS (2528 kT¥k, 20W) #T#& | Ultra-Thin 252 LED panel 20W,Warm white
04011151 | BA¥ (2528 kKT, 20W) #T#& | Ultra-Thin 252 LED panel 20W,Cool white
04011152 | 3k (2528 kT8, 20W) #T#& | Ultra-Thin 252 LED panel 20W,RGB
04011150 | BEk (2528 kT ¥k, 20W) #T# | Ultra-Thin 252 LED panel 20W,Single Blue
04011107 | BRY (4418 kT, 35W) #T#& | Ultra-Thin 441 LED panel 35W,Warm white
5 04011105 | B¥ (4418 KT8, 35W) KT#& | Ultra-Thin 441 LED panel 35W,Cool white .
04011106 | F3k (4418 KT ¥k, 35W) #T# | Ultra-Thin 441 LED panel 35W,RGB
04011104 | B (4418 kTEk, 35W) #T#& | Ultra-Thin 441 LED panel 35W,Single Blue
04011181 | BR¥ (531§ kT, 50W) #T#& | Ultra-Thin 531 LED panel 50W,Warm white
04011179 | B (531 kT ¥k, 50W) T#& | Ultra-Thin 531 LED panel 50W,Cool white
04011180 | ¥ (531 kTEk, S0W) T#& | Ultra-Thin 531 LED panel 50W,RGB
04011178 | £ (531§ kT, 50W) #T#& | Ultra-Thin 531 LED panel 50W,Single Blue
6 03011360 | M3*5[F] sk #1 2 M3*5round head screw 2
7 02021085 | #E 5 B iR Silica gelring 1 i i i ‘}
8 01050105 | KT&E KR = Bottom cover 1 !
9 03011361 | M4*10[E 3k F ik & B8 M4*10 round head self-tapping screw 5 | 3 S|
10 04013004 | 2%1. 5mm?™*2. 5m (D8) B &% | 2*%1. 5mm™*2. 5m (D8) Cable 1 :l _}
11 02010285 | THERENKE NBR ring Y <\ 19
12 | 03012125| M4*10mL TG KRS M4*10 flat head self-tapping screw 2 21
13 01051253 | Efirk fixed position plate 6 ]
14 01230003 | FFkFE Waterproof Cover ] ]
15 89041602 EXREiZE Nut Fitting 6 20
16 89041603 | XEHEH Fastening Dog 2 B
17 89041604 | FHKEH Water Joint Fittings for Cable 1
18 89041608 | &4 th e Vinyl pool fitting for NP300 1
19 01050010 | K5 NP300 Lights Niche 1
20 89041605 | ZE K E Plug with O-Ring 1
21 01171106 | L& Joint for wire & pipe 1

water technology

— —
ﬁ Emaux %

EL-NP300 Series Underwater Light User Manual
EL-NP300:% 317K 4T F P51t

A SAFETY WARNINGS 2o &4
Only qualified electrician is allowed to carry out the installation of this product. (¥ $Fh# sk 21T 43E
By Tak &l ibikith & 2 A R A BE#1T R %) Avoid direct contact with electrical power. (B 6 5 B R B 1E k)
Respect all regulations in effect for preventing accidents. (& &N F5 LE 5 2 H#D)

All units are required to be disconnected from the main electricity before any operation of maintenance. (TE4E & F1& 2k KT/, BHFFF
BER

Never handle with wet hands and feet. (4~ gE 5 FI /8 89 F BIIRE)

This unit is design for use only when fully submerged in fresh water, connecting with a safety transformer (b =@ 2%t A TREE8

TEE B

ke, ERATTINRERELEDXEIER)

Never operate this Underwater Light for more than 1 minute unless it is totally submerged in water. (RE#Bi3 1 5 #higtE, BRIETERET
k)

Be sure power is off before installing or removing LED plate. Allow LED plate to cool before replacing. (fE ZIFATE Z BiffRERS X8, £T
BRREA RIFER

This product should be installed according to your local electrical installation ordinances and regulations. (57 18 57 24 ith F B8, 22 2 55 F1 30
T &2 52 1k = )

Maximum Depth for Light installation at 1 meter (kAT REBKERF A IM).

Maximum Water Temperature Range for light operation 0 - 30°C (7R EEEI0-30°C)

SPECIFICATION #1#&

A) Electrical Specification : 1) Voltage : AC12V  2) Frequency : 50/60Hz 3) Power : 20W / 35W / 50W.(7kkT&%: HBIE: AC 12V 55
Z: 50/60Hz ThER: 20W /35W /50W.)

B) Colour change options(For RGB version only) (7KXTHIER &L INEE, (XBRFRHFD) :

1 | White(B®) 2 |Green(4f)
3 | Blue (E®) 4 | Green+Blue (F&+iEt)
5 | Red+Green (I &+5 ) 6 [Red+Blue (4 &a+i5 )
7 | Mode A:Blue+ GradualRed (FZTHRRAA: B KFTHIBHE) 8 |Mode B: Green+Gradual Red (i #RB: ZE K S+HI B T)
9 | Mode C:Blue+Gradual Green (Z#ERC KB KS+FEHE) 10 |Mode D: Blue+Gradual Red (HiZ#EAD I & K T+ BT
Mode E: RGB Colour Sequence: Red>Green>Blue 35 N
11 (i T 18 KE 4] 3 I ) 12 | Auto Colour Change (BRiEZT 1k, B % %)
: . > >
13 ';AP%C:;Z'g?;é%?i&i;%;g%;g) Green>Blue 14 |Rapid Auto Colour Change (IREHE 2, B4 %)

General Information —i% &%t

o Never install in vertical position with the lamp facing upwards / downwards,

o Intended for fresh & salt water swimming pool

A) Ensure that the electrical system of your pool conforms to the following requirements of all local codes and ordinances. A licensed or
certified electrician must install the electrical system to meet or exceed those requirements before the niche (fixture-housing) is installed.

B) Installation Guideline:

1) The top of the light lens be at least 18 inches (457mm) below the water level. Some installers position the niche 24 inches (610mm) below
anticipated water level to avoid any inspection authority issues with this requirement.

2) The lighting circuit must have a Ground Fault Circuit Interrupter (GFCI), and an appropriately rated circuit breaker.

3) The junction box or the low voltage transformer is located at least 8 inches (203mm) above water level and at least 48 inches (1912mm) from
the edge of the pool

4) The light fixture and all metal items within 5 feet (1534mm) of the pool must be properly electrically bonded.

5) The niche must be properly installed so that the "Top" sign inside is at the 12 o'clock position and that the top edge of the underwater light's
lens is at least 18 inches (457mm) below the surface of the water in the pool

6) The niche is properly electrically bonded and grounded via a ground connector

located at the rear of the niche S(-:ll’:::n-il;-lyaﬁe Figure 1 (E1)

C) Terminal Block must meet the IEC60988-2-1 standard having the rated AC 12v
connecting capacity of 4.0mm?, use of screw type terminal at least 25A rated 9@ @@ (® La m p
current, mounted inside junction boxes, see figure1 below ere

D) Use only EMAUX lighting fixtures in this niche to ensure proper bonding and
grounding connections.
@ (For US user, please also follow the requirements of the National Electrical Code
(NEC)

4-4

EMLI16082531

1-4




MPEERE BERL/ET),
o R R SOK FIBK TG

A) BRERIFKEERRGT S SRR LERANGS. RERTZH], HAR
. ﬁg;;ﬁfé}zlﬂﬁmzlkﬁﬁzﬁ&ﬁ LU ESiBiRE LB K,
55
1) ERBHTERE DK FA8ZT 457K T . HLANLRERFEAEKF
2435~} (6102K) AT, IS RER EMRLEKR.
2) égg@%%u‘ééﬁﬁ—@?ﬁtﬂﬁ&ﬁ%@‘fﬁﬁ%ﬁ GRERR, GFC1), i85 —{BEiE & V%8 E ki
B o
3) BRERREREBRNREMER L EMNKPABRT (203FK) LIER, IE
BEKHIB B E D483 (1921 FK) . _ N
4) FERKI8R T (457K MENWEANMMENEE, WAREEE,
5) [REDAERRE, [RENR TOP IZAAEIE 12803 E, MIEMEDEKRTE
AL18ZE ) (457ZH) LA N
6) REEBHEEMG, KELEERE.
C) AR IH T LTS |EC60988-2-11ZHE IRAFIARZ 4. Omm2, IRAARIELR, 12 E
a5, BElEEEZEN, REN,
D) IRERAIEFA EMAUXIE B, DAREIR EREIE SR
(EEA P58 ENECIEE N R HEEK)

Niche Installation ER%
Concrete swimming pool /K gils

1) To install the underwater lighting in a concrete swimming pool, the niche
should be fixed in the wall of the swimming pool. Be sure the top of the
niche be at least 18 inches (457mm) below the water level, and the TOP
sign of the niche is at the 12 o'clock position.

most convenient to your wiring design and seal the other one with the plug
provided.
3) Concreting the pool as shown in figure2.

1) BEEAGRIEIGERIKTE, KEWBREER L. BEXENTEDEDIEKFR
183~ (457=K) WU, K TNEEERN “TOPZsEnBREA 128 EME

2) REBMEESD, FEE—ERBARRMNEEOME MiLS—EFEOHE.

3) B2 R, SENTKRRY .

Concrete swimming pool with vinyl liner JKiEith(HERZHE )

1) To install the underwater lighting in a concrete swimming pool with vinyl

top of the niche be at least 18 inches (457mm) below the water level, and
the TOP sign of the niche is at the 12 o'clock position.

most convenient to your wiring design and seal the other one with the plug
provided.

3) Punch or drill the holes in the vinyl liner as stated in figure 3.

4) Install the Niche as shown in figure 4.

) EEARCHBHHICEERIEKTE, KEVARRKERLE. BXENTEBED
FERFALI8TET (457FK) WU, K TEEEN “TOP IRt AR 2855
&

2) g%ﬁﬁﬁ@?ﬁﬁﬂ, FEE-EREARMIESOME mMES—(EEgOH

3) MERFR ABZEEHIT.
4) EAF R, BEKTE.

[ —————————— G Emaux
f water technology
2) There are two conduits at the back of the niche, please chose one which is

liner, the niche should be fixed in the wall of the swimming pool. Be sure the

2) There are two conduits at the back of the niche, please chose one which is

To GFCI, CircuitBreaker
and Power Source/
R FR R AR

—
Q

W

Installation Diagram for NP300
NP3007K ifeith 2 < &

Underwater
Light Fixture

Concrete

Figure 2 (E2)

20-@6mm

@235mm

@252mm
V

Figure 4 (El4)

Figure 3 (E3)

Gasket

Concrete

20-M5 Screw

—_—t —
ﬁ Emaux %

water technology
Stainless steel lid and plastic lid interchange
FENEZSEMEEER
1) Remove the old lid by unscrewing the two Mé screw on the lid. Note that the

O ring, nuts slide block and the fastening dog will be loosen too by removing
the Mé screws on the lid, as shown in figure 5.

2) Install the new plastic lid or stainless steel lid as shown in figure 6, make sure
the screws hole are aligned. Fasten the Mé screw on the lid.

888

e
ll-,__“-,".—!—.ﬁ_Jlj

 —— /7

1) SARESHORISIRE. 128, AR, REMH, RLEH.
2) BIRECGEEI T REITER.

Underwater light fixture installation 223§k kT

1) Feed cord through conduit to junction box, leaving at least 59 inches
(1500mm) of cord at the light fixture to coil around the back of the light, such
that the light fixture would be bought back to the pool deck for service.

2) Make the wire connection to the junction box.

3) Insert the entire underwater light fixture into the niche. In order to obtain
good pool lighting it is important that the company logo of Emaux of the lid is
located on the 6 o'clock position.

4) Screw in the two Mé x 75 screws on the lid until the fastening dog is secured
in the inner walls of the niche as shown in figure 7.

5) Before operating the light for more than 10 seconds, fill the pool with water
until the underwater light is completely submerged in water. To check for
proper operation, turn on main street or circuit breaker as well as the switch
that operates the underwater light itself.

1) K T EZBER ARG E, BEDS9FET (1500mm)HIAREEREE. UAER
RILK T B E S

2) R R BAREE,

3) BRI TEEMBAREN. BT ESREFVBIAKR, BREMauxABMESAIR
6B E.

4) EZEET EAMFAMx75428T, BERRIOKEEERTN. (B7)

5) HEFRUK TERIA 0%, HAKRIKMIEK, BEITLERKTEEKS. B
EIFMERME, TREEIRSERE, URKTERSHFHH.

Lamp Replacement FiRITH

1) To remove the underwater light to the pool deck, loosen the two screws on
the lid until the fastening dog yields sufficiently so that the underwater light
unit can be separated from the niche.

2) Unscrew the 6 nuts which secure the lid to the base of the underwater light
as shown in figure 8.

3) To take out the fixed position plate from panel to replace the LED panel.

1) BRFREZEE T LAMBEMOX75HRE], K T ESEKR LS.
2) FBIK T BEEREE, BEEMBKFTITE. (E8)
3) BT £ E A9 (L ERERH B AT A B4 kT £2

Figure 8 ([E8)

2-4

3-4



	页 1
	页 2

